D

SPARE PART LIST

Single Lub 2 Application
System

Graf Chemicals GmbH Phone: +49 (0) 8041 79285-16

Prof.-Max-Lange-Platz 4 frank.engelbrecht@graf-chemicals.com
83646 Bad Tolz — Germany www.graf-chemicals.com




Price List 2024

Spare part list Single Lub 2 Application System

dosing unit
Pictures Description Article number FCA
price/pc. EURO
1 .
Single Lub 2
Dosiereinheit
T5-0570 1.050,00
Single Lub 2 dosing unit
2
SL2 Gehause Mitte
T4-1225 175,00

SL2 Housing

Spare parts SL 2 price list 2024/ Rev. 3 03/2024




graf,

Spare part list Single Lub 2 Application System

dosing unit
Pictures Description Article number FCA
price/pc. EURO
3

SL2 Abdeckung
T4-1221 37,00
SL2 Housing cover left

SL2 Endklappe
T4-1223 90,00
SL2 Housing cover right

SL2 Schraubensatz
Abdeckung, 6 Stick
T1-1962 4,00
SL2 screws for cover,
6 pieces

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 3



graf,

Spare part list Single Lub 2 Application System

dosing unit
Pictures Description Article number FCA
price/pc. EURO
6

SL2 PU Glasabdeckung

Zahnrader T4-1227 27,00

SL2 PU glass cover gears

SL2 Schraubensatz fir
PU Glasabdeckung mit
Dichtung, 7 Stick
T1-1301 6,00
SL2 screws for PU glass
cover gears with sealing
ring, 7 pieces

SL2 Displayglas
T4-1222 18,70
SL2 display glass front

9
SL2 Zahnradsatz, 2 Stick
T4-0496 95,00
SL2 gears, 2 pieces

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 4



graf,

Spare part list Single Lub 2 Application System
dosing unit

Pictures Description Article number FCA
price/pc. EURO

10

SL2

Pumpenkomplettsystem T5-0575 312,00

SL2 complete gear pump

11 SL2 Reparatursatz —

Pumpenantrieb

SL2 repairset for the gear

pump

1) Schlitzschrauben
Screws T5-0590 49,00

2) Welle
shaft

3) Dichtung
shaft seal

12

SL2 Schrittmotor
T2-3705 95,00
SL2 stepping motor

13

SL2 Steuerelektronik mit
Kabelsatz

T5-0578 397,00
SL2 control unit including
supply cable

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 5



graf,

Spare part list Single Lub 2 Application System
dosing unit

Pictures Description Article number FCA
price/pc. EURO

14
SL2 Dosiereinheit
Kabelsatz
T5-0587 33,00
SL2 dosing unit main
supply cable

15

SL2 Kupplung
T1-1239 31,00
SL2 coupling

16
SL2 Magnetstift
T5-0103 7,00
SL2 magnetic pen

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 6



graf,

Spare part list Single Lub 2 Application System

applicator
Pictures Description Article number FCA
price/pc. EURO
1
Single Lub 2 Applikator
T5-0571 424,00
Single Lub 2 applicator
2
SL2 Keramikhalter oben top T4-1216 22,00
SL2 ceramic holder top bottom T4-1219 26,00
3
SL2 Keramikhalter unten bottom T4-1217 22,00
SL2 ceramic holder bottom top T4-1218 26,00

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 7



Price List 2024

graf,

Spare part list Single Lub 2 Application System

applicator
Pictures Description Article number FCA
price/pc. EURO
4
SL2 Abdeckung oben
T4-1206 32,00
SL2 cover top
5
SL2 Abdeckung unten
T4-1205 30,00
SL2 cover bottom
6
SL2
Gehéausedeckelabdichtung T5-0582 17.00
SL2 seal rubber
7
SL2 Griff mit Schraube
T4-1211 14,00
SL2 handle with screw

Spare parts SL 2 price list 2024/ Rev. 3 03/2024




graf,

Spare part list Single Lub 2 Application System
applicator

Pictures Description Article number FCA
price/pc. EURO

SL2 Schraubenset
Abdeckung oben/unten
M4 x 10 mm, 8 Stlick
T1-0623 3,00
SL2 screw set for cover
top/bottom M4 x 10 mm,
8 pieces

SL2 Tur Applikator —

Komplett T4-1210 153,00

SL2 door complete

10

SL2 PA-Verschraubung
mit Au3engewinde
gerade 6 1/8

T1-0522 4,00
SL2 hose screw-on
connection with male
thread 6 1/8

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 9



Price List 2024 g!,q/f.V\

Spare part list Single Lub 2 Application System
applicator

Pictures Description Article number FCA
price/pc. EURO

11

SL2 O-Ring 48 x 2 mm
T1-1970 2,50
SL2 seal 48 x 2 mm

12

SL2 O-Ring 12 x 2,5 mm
T1-1260 2,50
SL2 seal 12 x 2,5 mm

13 SL2 Ruckplatte mit Kabel

SL2 cover back with T5-0589 40,00

cable

14 SL2 Ruckplatte mit Kabel
+ Durchlauferhitzer

T5-0591 198,00
SL 2 cover back with

cable + flow heater

15

SL2 Schraubenset
Ruckplatte M4 x 6, 4
Stuck T1-1170 2.00
SL2 screw set cover back
M4 x 6, 4 pieces

Spare parts SL 2 price list 2024/ Rev. 3 03/2024 10



Price List 2024

Spare part list Single Lub 2 Application System

graf,

applicator
Pictures Description Article number FCA
price/pc. EURO
16

SL2 Durchlauferhitzer
einzeln

SL2 flow heater

T5-0572

185,00

17

SL2 Durchlauferhitzer
Halter

SL2 flow heater holder

T4-1208

12,00

18

19

SL2 Schraubenset fir
Durchlauferhitzer Halter
M4 x 8 mm, 4 Stiick

SL2 screw set for flow
heater holder M4 x 8 mm,
4 pieces

T1-0735

2,00

SL2 Keramik geschlitzt,
D 6,8H6d2,8mm

SL2 ceramic split eyelet,
D6,8 H6d 2,8 mm

T1-1606

6,00

Spare parts SL 2 price list 2024/ Rev. 3 03/2024

11




Price List 2024

Spare part list Single Lub 2 Application System

accessories

graf,

Power supply RS-100-24 ,
for 4 Single Lub 2, 4,2A

Pictures Description Article number FCA
price/pc. EURO
ol — PVC-Schlauch glasklar
7 6/4x1 mm
T1-0552 0,60/ m
N Hose PVC transparent
# 6/4x1 mm
2 Single Lub 2 Anbauteile
Single Lub 2 mounting T5-0359 150,00
parts
3
Applikatorfullstoff Preis auf Anfrage
Sponges price on request
4 Schaltnetzteil RS-25-24,
far 1 Single Lub 2, 1,1A
T2-2721 39,00
Power supply RS-25-24,
for 1 Single Lub 2, 1,1A
5 Schaltnetzteil RS-75-24,
far 2 Single Lub 2, 3,2A
T2-2637 47,00
Power supply RS-75-24 ,
for 2 Single Lub 2, 3,2A
6 Schaltnetzteil RS-100-24,
far 4 Single Lub 2, 4,2A
T2-2800 58,00

Spare parts SL 2 price list 2024/ Rev. 3

03/2024

12




Price List 2024

Spare part list Single Lub 2 Application System

accessories

graf,

Power supply SP-320-24,
for 10 Single Lub 2, 13A

Pictures Description Article number FCA
price/pc. EURO
7 Schaltnetzteil RS-150-24,
far 5 Single Lub 2, 6,5A
T2-2524 72,00
Power supply RS-150-24,
for 5 Single Lub 2, 6,5A
8 Schaltnetzteil SP-320-24,
far 10 Single Lub 2, 13A
T2-2638 181,00

Spare parts SL 2 price list 2024/ Rev. 3 03/2024

13




